o Elliott bought twice as many marbles as Emma bought. o Ravi's mother bought 34 apples. Charles’ mother bought % as many

1 apples as Ravi's mother bought.
Holly bought E as many marbles as Emma bought.

How many more apples did Ravi’s mother buy?
Emma bought 10 marbles. How many marbles did they buy altogether? I:I
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Ravi’s mother bought more apples than Charles” mother bought.
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o Lulu had % as many 20p coins as Amira. Amira had thirty 20p coins.

Total — O O O How many 20p coins did they have altogether?

They bought marbles altogether. Lulu —2 of O

Total — Q Q

They had 20p coins altogether.




